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L a8 86" 38 duswe® wone® fthes 3801
BIWPI[How. PO Jothesd a8 Kobd Bhadho
S8 Ko A Votbes dY Vwiren Big?

In a bowl the number of marbles get doubled

after every minute. If the bowl gets filled after

one hour, how long it would take for it to be
half filled? ( )

=) 59 ddaren 59Minutes &) 30 Avaren 30 Minutes
®) 15 Advapen 15Minutes &) 45 dvaren 45Minutes
o8 S DEPH RO ad&eAcD M Bired

SEPHTVOR, BHE HFPT I THTeDH Lf) @ 5’
mbo;’n SEFEHTVOR. TOSLgen SEHBP... $3 )

bl Swathi made kites with waste papersand

Sumathi has ground the waste papers and made _;7:' :

a bas Wlth the pulp, these examples are
es pectively to

&) Shotto, H:SEao Reduce, Recycle
%) HS6 DAG@rKo, DI:S8aho Reuse, Recycle
&) &oh grotio, dhosto Recover, Reduce

3. &% cwodB Bed’ orssdent Bobs d58 &g
O DprriEng® B8 SEEEn PRoT? ()
In which of the events Neeraj Chopra won
the gold medal for India in Tokya Olympica
) &&)% (8° Discuss Throw :
8) =308 (8° Javelline Throw 3
%) &pe55¢5 Shot Put
&) erofes0s Long Jump '

4. 0% Tcholdsd Duied® ol LIS NA?

Polished rice looses the following Vitamin e )

@) DS B1 Vitamin B1
) D& B2 Vitamin B2
%) Q&S B3 Vitamin B3
&) DOWS B6 Vitamin B6

[ '-'c' Ly

i--\.-uun.-d =1 wt.-..u u.\_.-.....

Pk |

ol o, e ol - W ’e
ot “__’ ~ S0Qotto D @

i

L&y

: - SB&50, 86A roBio. Recycle, Recover

5.

t.severity of Corona disease?3
) ST 5o %&omﬂpn By clapping

RonSas §&E° Goo &% iEDo  ( )
What is the metal comblnation :
in Stainless Steel? '
a) Fe-Cr b) Fe-Al
c) Fe-Cu d) Fe-Ni
86 50 HEE Do as&é%aﬁi’naﬁb‘? (=
How can we control the

£) Soxghiaren DRoBEomee By burning Ghee lights

D) edsrEo a&oﬁéo@s@ By dnnklng cow unne

Dr Yellapragada Subba'Rao Dr. Alexander Fleming
BOD & agao&.“m ExpandBOD ()

a) Blue Oxygen Demand

b) Biological Ozone Demand

¢) Biological Oxygen Demand

d) Biological Oxygen Draft

A:B=8:3 s B:C=5:6 wowd A:C = d08?
IfAB 8:3, BC=56thenAC=?( )




10. &

11.

12.

13.

14.

15.

) 2,8 £) 2,8,2 ?0324 &) 2,8,4
wosmbab wcbbibo Qs 7 L ( )
When is International Day of T
D) PeHb 28 FcbmazyzsﬂuQ\ A /
2) DS 1 April 1st  w
®) 3 16 ‘May 16th ..-‘:F

: &)?\:gomg 9 September 9th” //l/ ‘\i\.?\

- _|‘

B .
rse T e e Nl
ECR e o SPOE oo

I
S0C,
A+

-

:%rn “-\.;..1)

Which part of your eve is

”\m

AADHAA
SO80 Lense 8. s*8)a» Cornea -

D B8z Retina & &% Irish
S8y tbouﬁ“ﬁ@dﬁaés IR Sots asthidh B4, falagtas
Sofiereres DD? ( )
Name the phase and product formed in Grana
during the process of iphotosynthésis
@) 25 So3ses BE-DodSTLHw, N
Bio-synthetic phases-storch water
) SCodBIESH cﬂé—ao&wmvgm, D
Photo chemical phases - storch, water
R) 85 J03es BE-IED
Bio-synthetic phases-ATP,
&) 5°08 Srcd BF- YRS Barg)E
Photo chemical phases Co,
SHe £535 dEiss, Sede
000 BOCHED =°(Bo NB?

What is the science that studies :
the lilfe style of birds and its migration? (

o) asced Ecology £) eyzced Ornithology
%) Sogred Utholo &) docsre Embryology
<7 SHoER @Kb_@;ﬁe P89 65552‘@“9 cogs df?
Number of varicus squares
possible in the adjacent

considered for Aadhaar identity?
“

o,

figure is ? ( )

) 16 2) 17

%) 30 &) 18 :
(Bob TEE° 58 Dofiyticho Ju(FS THRY, asdﬁ:
Egol? (555

Which of the following figures indicates the
electromc distribution of magnesium

" D0

16, (58) S S’ 80 “C
Value of angle “C” in the figure
®) 30&Hen 30 Degrees
D) 458(Aex 45 Degrees
) 60&(Hen 60 Degrees
&) 90&Aen 90 Degrees

17. m#56508 Match the following
P Plastor of Paris

o aBR0 e »8% (

4 QGypsume  (

- R Baking Soda

AR

A

) i. NaHCO,
Y ii. CaSO,:2H,0
() iii. Na,CO,.10H,0
S Washing Soda
>of e () iv.CaSO,1/2H,0
) P-iv, Qii, R-i S-iii b) P-iv, Q-ii, R-iii, S-i
c) P-ii, Q-iv, R-i, S-iii d) P-ii, Q-iv, R-iii, S-i
18. 0858 RS 56 5% 285kn B8 XY
BR)Ed HEEn wangod 828 8o 21B?( )

Grand mother suffered in sleep as if some
one pressing her neck and breathlessness.

What is the reason?
) BasgoR Devil's Act &) 288 Black magic

) J5S® HgaeS0 Sleeping Peralysus
&) &% Foul looks '
19, SeSS "n"éﬁcé‘s Sor|@o Fool)
%2 Sl ihBowed (
Identify the correct path
of Urine in the human body i NGEFIss" ==
D)om(Eserotio ~SurlErEabo-{Hasio- méw;sn
kidney-urinary bladder - urethra - ureter
8)) Soo(@eEasHo —ue(ERrE S0 - — S| BDoo-[HISIW
urinary bladder - uretar - kidney-urethra
2y) SHae(E80850 —Ee(SRPFRD ~(H3EE0 Q@ dado
kidney-ureter-urethra-urinary bladder
8) SorlE8R10%0 -l Sme i -Sur@rdabo -3
kidney-ureter-urinary bladder-urethra
"Ll OB B:D mrenth DER ToXHes® 100 &, wrdo
BONBH oo Wik 58 Jou? Qe
What is the average speed of Cheeta that
sprints 100 mts. in 4 seconds?
D) 40 :bamés 40 M/s ) 400 do/288 400 M/s

&) 26 3);/:;5.! 25M/s &) 8 &. /288 8 M/s
718 X 18+ 26 X 17+ 17 %X 17 = (

)

CeTEET
uv[w' o oStoes Bow Vol T
L= L=

Lv—u

g
':‘LzJ‘u el Sooe ‘1" "“""0 mt" W'U-"'u ool T.-JLJu ST,

2) 900 D)800 %) 600 &)400




% PH Dexdien BOAS

o Z .
2 A & poN Gy

Lt ] L =] dl‘l ».L -_ll
Ide ntriy the Pair of PH values of strong acid
and strong base in the following ( )
Q) (6,14) ) (1,8) »)(7,7) &) (2,14)

23, 2021 witsy Sed® §08% Hol BErhotel
OPODS c::L;L:f;;fsv::an 28 (-7
Whiu:,h satellite was unsuccesful inits launch
by ISRO on August 20217
a) GISAT-1 b) CARTOSAT
c) INSAT d) PSLV c-51

24, Heoé® ¢ (2) Sopg Sroovel. 7 | 1
Find the missing number 5/144 5\

in the figure. ‘3>g 100 /5
») 50 Q) 8 3
Q) 81 &) 6
25. 6RES by D AeHBHoP BEEEBE SOVFow?
The principle involved in Optical fibre is ( )
@) doedgdo Reflexion

®) DoFroross Horssso Internal reflexion

)56g0e0 Scattering

&) Qee0 Dispursion

™ .

26. DET DY PE) (B3 VIO S0k M ARG IS
sEain 56 ? | ( )
Which Bacteria is used as bio pesticide ?

- o256 Azeto Bacter
9. 53605 Azosphirillum
R. 2hef §r6ac-8)S Bacillus Thuringiensis
&. =208 $5%9 Bacillus Popilliac

27. Fbde s3&rAE (D D:58e$56° Hod Brds:s |-

‘:::::bg eseren

What is the Chemical

compound present in the
Breath Analizer used by

Police
a)K.Cr,0, b)Na,SO,
c)K,SO, d) KMnO,

28. =8 [Erdcrest SPROR BrdE Gk Boih
The colour of Phenoptholin indicator in

basis solution is ( )
D) &P Yellow ) ey Green
) Herd) Pink &) 2B Red

T Vrien STy - erDed SE d

et

ot

= |8

29. AB+C --> AC+B & 820004 $&088cskn & é:ﬁvﬁ:
Pos LT PG o WAY 4
AFHE :»> AC+B this Chemical equation
represents? ( )
@) Bty DG S5
Double displacement reaction
) FSiglod 385 Displacement reaction
) daer S8 Decomposition reaction
&) Hodrr S8y Combination reaction
30. “Rhore Hercdid HE4S” © Desded S8ehS Sa?
Which Hormone called as “Fight & Flight” Hormone
o) goed)S Thyroxin Sge )
) o|&5S Adrinalin
2) [@@Qo°S Progesterin
&) BRYoeS Testosterone
81. Both Hodrd Sere Fgo 34 &(fw, wond
§%cen
“Two supplementary angles differ by 34
degrees. Then the two angles are  ( )
D) 105, 75 &fien a) 105, 75 degrees
) 108, 72 &Aen b) 108, 72 degrees
R " EBew 0)7021”?8 degrees."
&,) 107 73 &lfien d) 107, 73 degrees

3:2 @6&53%‘065 éﬁf ‘6555655 3o 1=C] ﬁ‘&o«'ﬁm&:ﬁ
: erdab Buwé a&ﬁscﬁm Sog NIV&égrd aHd

The Institute in India meant for Research on

various viruses known as National Institute
of Virology (NIV). Where it is located? ( )

3
i

Q) Trleers Hyderabad 8) 3 Pune
&) Swoaron Mumbai &) & Bhopal

33. al5, a, a/4, a/2, a/3(a>0) o) SoxgHso 12 wons
WenN dodd?

al5, a, al4, al2, al3 (a>0) if median is 12
find the value of a ( )

w) 27 &) 24 ) 36 &) 30
elbed DHVTr..,

. ]
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\’\!hfl.‘h Oi ih(‘ f'i\-”“\'infii,‘{ ”'“'\ \"l.!rrl’l:lqu"p“(:[‘('\'h)l][l F‘I-'ui o ..IBJ"} :\.'i.:i!L_'i':"il'_.'.r.jB o tire o ( )
chain ; :
e R ( ) The reason for the rise of water level when |
) NG ~HROIY -IOID B[ the candle inside the

a) Grass-Chameleon-in sect-bird

8) 58 -¥8)-HoBew-5§

b) Grass-Fox-Rabbit-Bird

) RS PoSLS - anpobLS-3%

c) Phyto Plankton-Zoo Plankton- Fish

&) To0S een-arg§Bcie-eroey

d) Fallen leaves-Bacteria-insect-larva 0y Vaccum created due to consumption of Oxyzen
35. S wOmSo B2 B0 Bewb? () |ams) SE-R8hs Capilarity

Bruno Sacrificed his life for his theory in 3‘*%5 BAng)E Srert FoSoind’ BBRERS

support of 80 ( )

) gﬁée&g‘% é:ntﬁgsﬁo@sé Rum;oéo Which among these would increase Carbon

a) Copernicus Helio Centric theory O e et

D) BomgoS KotoEegstsse drposo Q) esé;ﬁw}é%ééﬁ De forestration
b) Newtons law of gravitation ) So& I seedo Burning of fire wood

2) 505%5 R e %) @088 S5eH cHolg HI@rie Automobiles
el @

glass burns out ?
Q) ﬁsig Bad looks
8) ool (Dersio
Devine Chan —
D) edHs piy) oS08 g Steplatela)

c) Einsten's theory of relativity MRS &) DIk All of the above
&) £r8)IS DesgScdIed drpodo 40, 20218 ks Dprrisns® SBS wEvHoR & (808
d) Maxwell Electromagnetic theory. : T8 O wdHBrd K80 l}'zé&oa‘ﬁ;?

36. (808 BE® DL D Mol Sy VS For which innovation has the Noble Prize

in Medicine for 2021 beéen awarded to -

DITHC 1S By o S [Feboe® Fosol. (o)
~ the persons given in the picture? ( )

D DY) 558 Boe EE o8 Do aTS...
Which one among the following is the

correct consumption for Light of equal
intensity of electric power? ( )

e asiiay .
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Q) &% BERD HOTED
Research on Corona Virus

9) 558 TGP 58885%

2) 1,234 « | . 9)2,3,4,1 ‘ Research on Cancer
©) 1,342 &) 1432 . | 2) B ARgSHE° ago, 30, YgRed Y8z
37. eris oty T8 SobSEBOm Bhos 500 8.5, | | (BOTES

38t S 5055‘36&56 E5msealist? ) “'t-g‘.g-"Research on recognitions of Heat,Cold &
In which year was the circumference of the Touch in the human nervous system
earth caliculated with a small error of 500 &) Sue(EDorre BOEES

KM for the first time? Research on Kidneys
. Euén 100, 100AD 8. Endn 950 950 AD
o, Eun240 240BC &, (Bugrn256 256AD | % ok ok

S350 20 woTodH E::as“w Sl
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